

- μ

μ

$$F(a, b) = P(X \leq a, Y \leq b) \quad -\infty \leq a, b \leq \infty \quad 2$$

$$: F_X(a) = P(X \leq a) = F(a, \infty).$$

$$P(X = x, Y = y), \quad f(X, Y).$$

$$P_X(X = x) = \sum_y P(X = x, Y = y) \quad X, Y \text{ διακριτ } \varsigma$$

$$f_X(X) = \int f(X, Y) dx \quad X, Y \text{ συνεχε } \varsigma$$

$\mu \quad \mu \quad \mu$
 $\mu \quad \mu \quad \mu$

$$E(X, Y) = \begin{cases} \sum_x \sum_y xy P(X = x, Y = y) & X, Y \text{ διακριτ } \varsigma \\ \iint xy f(X, Y) dx dy & X, Y \text{ συνεχε } \varsigma \end{cases}$$

$\mu \quad \mu \quad \mu \quad \mu$

$$E(X, Y) = \begin{cases} \sum_x \sum_y g(x, y) P(X = x, Y = y) & X, Y \text{ διακριτ } \varsigma \\ \iint g(x, y) f(X, Y) dx dy & X, Y \text{ συνεχε } \varsigma \end{cases}$$

$$: E(X+Y) = E(X) + E(Y)$$

$$: g(X, Y) = X + Y$$

$$\begin{aligned} E(g(X, Y)) &= \iint (x+y) f(X, Y) dx dy = \\ &= \iint x f(X, Y) dx dy + \iint y f(X, Y) dx dy = \\ &= \int x \left(\int f(X, Y) dy \right) dx + \int y \left(\int f(X, Y) dx \right) dy = \\ &= \int x f(X) dx + \int y f(Y) dy = E(X) + E(Y) \end{aligned}$$

μ : μ μ μ μ μ μ $() = np$
 μ μ μ μ μ μ μ n
 Bernoulli, $X = X_1 + X_2 + \dots + X_n$

$$X_i = \begin{cases} 1, \mu & p \\ 0, \mu & 1-p \end{cases}$$

$$E(X_i) = 1 \cdot p + 0 \cdot (1-p) = p$$

μ μ μ μ μ μ μ

$$\begin{aligned} E(X) &= E(X_1 + X_2 + \dots + X_n) \\ &= E(X_1) + E(X_2) + \dots + E(X_n) \\ &= p + p + \dots + p = np \end{aligned}$$

μ $a, b \in \mathfrak{R}$

$$P(X \leq a, Y \leq b) = P(X \leq a) P(Y \leq b)$$

$$- \mu \quad F(a, b) = F_X(a) F_Y(b)$$

$$: \quad \mu, \quad E(X \cdot Y) = E(X) E(Y)$$

:

$$E(X \cdot Y) = \iint x \cdot y \cdot f(x, y) \, dx dy$$

$$\mu \quad f(x, y) = f(x) f(y),$$

$$\begin{aligned} E(X \cdot Y) &= \iint x \cdot y \cdot f(x) \cdot f(y) \, dx dy \\ &= \int x f(x) \left[\int y f(y) \, dy \right] dx = \int x f(x) E(Y) \, dx \\ &= E(Y) \int x f(x) \, dx = E(Y) E(X) \end{aligned}$$

$$E(g(X) \cdot h(Y)) = E(g(X)) E(h(Y)), \quad \mu$$

μ

μ

μ

:

$$Cov(X, Y) = E[(X - E(X))(Y - E(Y))]$$

$$: \quad Cov(X, Y) = E(X \cdot Y) - [E(X) E(Y)]$$

:

$$\begin{aligned} Cov(X, Y) &= E[(X - E(X))(Y - E(Y))] = E[(X - \mu_X)(Y - \mu_Y)] \\ &= E(XY - X\mu_Y - Y\mu_X + \mu_X\mu_Y) \\ &= E(XY) - \mu_Y E(X) - \mu_X E(Y) + \mu_X\mu_Y \\ &= E(XY) - \mu_X\mu_Y \end{aligned}$$

μ

1. $Cov(X, Y) = Cov(Y, X)$
2. $Cov(X, X) = V(X)$
3. $Cov(dX, Y) = dCov(X, Y), d \in \mathfrak{R}$
4. $Cov((X + Z), Y) = Cov(X, Y) + Cov(Z, Y)$

μ μ

$$\text{Cov}\left(\sum_{i=1}^n X_i, \sum_{j=1}^m Y_j\right) = \sum_{i=1}^n \sum_{j=1}^m \text{Cov}(X_i, Y_j)$$

$$:$$
$$V\left(\sum_{i=1}^n X_i\right) = \sum_{i=1}^n V(X_i) + 2 \sum_{i=1}^n \sum_{\forall j < i} \text{Cov}(X_i, X_j)$$

:

$$V\left(\sum_{i=1}^n X_i\right) = \text{Cov}\left(\sum_{i=1}^n X_i, \sum_{j=1}^n X_j\right) = \sum_{i=1}^n \sum_{j=1}^n \text{Cov}(X_i, X_j)$$
$$= \sum_{i=1}^n \text{Cov}(X_i, X_i) + \sum_{i \neq j} \sum_{i=1}^n \sum_{j=1}^n \text{Cov}(X_i, X_j)$$
$$= \sum_{i=1}^n V(X_i) + 2 \sum_{i=1}^n \sum_{\forall j < i} \text{Cov}(X_i, X_j)$$